1. Ordre des opérations Exercices supplémentaires N° 2

Exercice 1 Calculer:
1) 5-(4+6-9)-2-(5-23)° =
2) (06 +08)-100- 3 =
3) 10*:5% + 0,2® =
4 3+{3.[32-3.(3-3)]-3}-3-=

Exercice 2 Calculer:
1) F+21-(2+2.5) =

) (03)°- 10000 + V64 - (67 - 2° - 5 —9) =

V127 - 3°
3) =
101-10 - 0,1

Exercice 3 Calculer:
1) J162-3-%Y64-4+2.(32 -8 -5) =
2)  (03)*-+4900 + +/10000: 0,1 =

13 — 5% - 2

(2t - 2°).2

3)

Exercice 4 Calculer:

1)  (05)°:001-(108+03-04)° =
2) J52-5-%81-5+2.(22-3-1) =
3) 6 — 2° . 413° = 5% + 7° .4 . 10° =

Exercice 5 Calculer:
1) 1+ 3%.474-5%-02%+ .0,0009 =
2) 502 - 1072 . 3 64000 =

Solutions :

Ex1:1)576;2)73;3) 400,04 ; 4)6
Ex2:1)72;2)41;3)1
Ex3:1)38;2)1002,7 ; 3) 0,625

Ex 4:1)23,56;2) 26 ;3) 3910
Ex5:1) 62,99 ; 2) 2,008
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